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QUESTION 1

Which role is required to edit backup configuration in SDDC Manager?
A. SUPER ADMIN

B. POWER USER

C. ADMIN

D. OPERATOR

Correct Answer: A

QUESTION 2
What is the benefit of placing vRealize Suite | ifecycle Manager on the cross-region Application Virtual Network?

A. vVRealize Suite Lifecycle Manager cannot be placed on the cross-region network as it is reserved for Workload VMs
only.

B. SDDC Manager uses the cross-region network to deploy vRealize Log Insight and vRealize Automation Proxy
Servers, and this is not configurable.

C. vRealize Suite Lifecycle Manager can be deployed in cluster mode
D. After a recovery, an administrator can continue using the same IP address, DNS record, and routing configuration

Correct Answer: A

QUESTION 3

Where can NSX T be used in VMware Cloud Foundation?
A. in an external cluster

B. Only with consolidated architectures

C. In all architectures

D. Only with standard architectures

Correct Answer: D

QUESTION 4
Which two statements accurately characterize vSphere Pods? (Choose two )

A. A vSphere Pod is the smallest building block of vSphere with Tanzu that can run containerized applications.
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B. A vSphere Pod can run only one container, and the minimum number of vSphere Pods in a cluster is three pods.
C. A vSphere Pod is just a VM that runs a minimal version of Photon OS and container runtime on top of it.

D. A vSphere Pod is a Kubemetes pod that runs on Tanzu Kubemetes Cluster

E. A vSphere Pod can use normal vSphere Standard Switch and vSphere Distributed Switch

Correct Answer: AD

QUESTION 5

Which two statements regarding MTU size should be considered prior to executing a deployment of VMware Cloud
Foundation? (Choose two.)

A. MTU of 1600 is a minimum for TFP VLANs

B. MTU of 1500 is a minimum for TEP VLANs

C. MTU of 9000is a minimum for all non-managementVLANs

D. MTU of 9000 is recommended for all non-management VLANs
E. MTU of 1500 is recommended for all non-management VLANSs

Correct Answer: AE
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